1. FFEHEDH (40 4)

P1=MEM[R2+0]
P2=MEM[R2+4]

Branch done if (P2==0)
P3=P1+R3

Branch start
P4=MEM[P2+0]
P5=MEM[P2+4]

Branch done if (P5==0)
P6=P4+P3

Branch start
P7=MEM[P5+0]
P8=MEM[P5+4]

Branch done if (P8==0)
Halt
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2. ILEHITEEER (40 43)

Instruction Has all Start EX End EX Writeback
data
A: LD O(R1),F2 1 2 3 4
D: LD 8(R1l),F4 1 2 3 4
I: ADDDI FO, #16, FO 1 2 3 4
B: MULTD FO,F2,F4 4 5 9 10
E: MULTD FO,F4,F10 4 5 9 10
F: ADDD F2,F2,F2 4 5 6 7
G: ADDD FO,F2,F2 7 8 9 10
C: ADDD F2,F4,F6 10 11 12 13
H: SD 8(R1),F2 10 11 11 12
J: DIVDI F10, #3, Fl2 |10 11 20 21
K: BNEQ F6,F12,A 21 22 22 23

3. EEFEMmMIR (20 4)
a) 10g2(4096/2/32) = 6bit
b) write-through A& 2 dirty bit it3k cache #IEIRES, EAFRE cache 5

[E] memory,



